@ Find the point of intersection of the line

x-3 y=2 z+1
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and the plane with equation 2x + V-z2=

t+4 3t)

@ Given the matrix 4 :( 3 i

(@) Find 47" in terms of # when 4 is non-singular.

()  Write down the value of ¢ such that 4 is singular.

. 3\ .
() Given that the transpose of 4 is ( ;)’ find 1.
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@ (a) Find an equation of the plane 7, through the points 4(1, 1, 1), B2, -1, 1)
and (0, 3, 3).
()  The plane 7, has equation x + Jy—z=2.

Given that the point (0, a, b) lies on both the planes 7 and 7, find the

values of a and b. Hence find an equation of the line of intersection of the
planes 7, and .

(c)  Find the size of the acute angle between the planes 7ty and r,.

@ The matrix 4 is such that A* =44 =37 where I is the corresponding identity
matrix. Find integers p and q such that

A*=pA4 +ql.

@ (a) Find an equation of the plane Ty containing the points 4(1, 0, 3),
B0, 2, 1) and C1, 1,0y,

Calculate the size of the acute angle between 7y and the plane 7, with
cquation x + y -y = ().

(H) Find the point of intersection of plane 7, and the line

=11 y—ﬁm =12
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